2007-2008 6 TH GRADE CONTEST SOLUTIONS

Answers

30. Any number divisible by 6 and 8 is divisible by their lcm, 24, 30.
and all its factors, but not necessarily by any larger number. C
A) 1 B) 2 C) 3 D) 4

31. A diameter of the largest such circle is the length of one side of | 31.
the square. The square’s side is 8 +4 = 2, so a radius is 1. D
A)8 B4 Q2 D1

32. A pair of $5 and $6 puzzles costs 32.
$11. After I buy 8 pairs for $88,
I can buy 2 more $6 puzzles. B
A)17 B)18 C19 D)20

33. V36 X V36 = 6X6 = 36. 33.
A) 2x18 B) 18x18 A
C) 3x2 D) 36 %36

34. If my row has 26 seats, then there are 25 seats besides mine. If | 34.
5 seats are on my left and 20 are on my right, the ratio is 5:20. D
A) 111 B) 1:2 O 1:3 D) 14

35. Such products always have several factors divisible by 10, and | 35.
the ones’ digit of any number divisible by 10 is always a 0. A
A) 1 B) 5 G 9 D) 10

36. Subtract 1 from each term. The resulting sum is 255050 = 2500. | 36.
A) 2500 B) 2475 C) 2450 D) 1275 @ A

37. Since 20% of 150 cm is 30 ¢m, and 150 cm + 30 cm 37.
is 180 cm, the Invisible Man’s height without
his hat on would be 180 cm — 30 ¢cm = 150 cm. B
A) 144 B) 150 C) 160 D) 216

38. 5:00 to 5:59 is 60 times. At other times, 5s appear at |t 38.
05, 15,25, 35,45, 50-59. Total # is (60X 2)+(15Xx22) = 450. \i B
A) 362 B) 450 C) 472 D) 492 "

39. A square of area 64 has side 8. Split the square 39.
into an 8% 5 rectangle and an 83 rectangle. The
smaller rectangle’s perimeter is 2X 3+8) = 22.  _} B
A) 20 B) 22 C) 24 D) 26

40. There are 16 As: 6 small As, 3 As that use 2 small 40.
As, 6 As that use 3 small As, and the original A. iy
A) 16 B) 15 A
C) 13 D) 11
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Contest Information

m  Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answers column to
the right of each question).

m Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, deserve commendation!

®  Answers & Rating Scale Turn to page 149 for the letter answers to
each question and the rating scale for this contest.
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